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O your work on an extra sheet of paPer: ) )
1) The monthly minimum payment p due on 2 certain credit card with a fixed rate varies dj

s _ irectly
as the balance 4, and p = $19.80 when b = $1100. Find p when b = $3000.
pJ5Y

2) The time ¢ that it takes Hannah to bike to sch
can bike to school in 25 min when her average Spe¢

need to be t in 20 min? '
e to get to school in 20 m 9.5 m,/h

=

ool varies inversely as her average speed s. If she
d is 6mi/h, what would her average speed

bjects have a gravitational force between them

> i two O ;
3) Newton’s Law of Gravity states that any e ~es and inversely proportional to the

that is directly proportional to the product of their

Square of the distance between them. ing F for the gravitational oty A T

a) Write Newton’s Law of Gravitation us : i e

the masses, G for the constant of proportionality, and r for the distance between the objects.
=_ Cmmy

[= — o

b) If two objects of mass 1.0 kg and 2.0 kg located 1.0 m apart exert a gravitational force

. . f)
= i alue of the gravitational constant
of 1.3333 x 10~1° N on each other, what is the v %

s C.(afpégxlo N

c) What is the gravitational force between two football players with
130 kg who are lined up 1.5m from one another?

F- 4.92495 xIO N

Simplify. Identify any x-vales for which the expression is undefined.

masses of 115 kg and

e Ve = B

8;C _ X2 & x#-Y
Sx2 D
6) éf::::j = C%X;3 7 x3y+4x:3;43.x?—12 s 5 oo 2

X208 x# 6 w3 -4

Perform the indicated operation. Assume all expressions are defined.
) 2x+14 Bx+40 ) 3x2+15x-18  9x3-3x2

x2-25 6x+42 36x3-12x2 9x2+36x-108
_J X-|

3(x-5) 2Cx -2
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Add oF subtract. Identify any x-values Jfor which the expres.fimlzl und:ﬁned_
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Solve each equation. ; ,
Ax _ 2x48 : 7} —241=—
21) x-4  x—4 ) x x?
X=2 X=7 X=-)
2 8 14
23) a2 Taz_ @

d= /s

Solve each inequality algebraically.
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28 T s .

Wh') An ?Vl’tlst is designing a picture whose length, /, and width, w, satisfy the Golden Ratio
1 - L l " . . - J
ch is " = . If the length of the frame i 24 inches, what is width of frame?

Lot 2]S = j4f3in

1 x hours. It takes Team B 3 hours longer to

29) Team A can wash all the windows in the schoo £,
an complete the job in 8.5 hours. How long

do the same job. If the teams work together, they ¢
does it take Team B to do the job alone?

, &. G h
6 knots (nautical miles per hour) in their boat.
tor at only 3 knots.

trip.
travel downstream plus the time is takes for

30) Vicki and Lorena motor downstream at about
The return trip against the current, and they can mo

Vicki wants to find the average speed for the entire
a) Write an expression for the time it takes to

the return trip if the distance in each direction is;f.
e . B

b) What is the total distance they travel downstream and upstream in

24

¢) Write an expression for their average speed using the €

the total distance. 7y

(4D

d) Vicki says that the average speed is 4 knots. Lorena says that the average speed is 4.5

terms of d?

xpressions for the total time and

knots. Explain who is correct and why.

N

Vichi (4 krek) 3+ darrct becase oo conndh jat aneoge foe.
tuo speed. The dedal distner /i nwst- be  Galcoleted,
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ch@
Rational Expression Workshe Re! lew'#16
Adding /Subtracting/Solving

Add or subtract these rational expressions. ShoW J’mg lc;l;lmﬂn ‘_lcn:’minaltlors and
ominators
Dumerators on this sheet or separate paper. F ACT D TR

possible.
( 2D & By TR
1. —3-_1 2 7 3 fx— 30 x=5 ) G5 »-5
8x 4 o) 3;(:3
_3.-_ 12 3 Qx 3..;',(’ 3(){_5) Q“))(Z) x-5)
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Solve each equation for x. SHOW WORK!

) Q) LAD: 5(x )
7) 3x 8 =-—23 . 2 % 6 1).‘\?0)
Y ox+T7 x+7 x+7 ) X +§=@
DSt 5799 Jriv-320= 30
- =I5
O - 3 “x -30 = 30

2 . Yx = GO
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Name

Rational Expression Worksheet Review #

Simplify/M ultiply/Divide

Simplify rememper 10 factor when necessary)-
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ultiply or divide (remember to factor when necessary).

x?-x=12  x*+x-20 G, 36044




